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why Unitary ?
Physics H=H+

Unsatisfying Answer :

Quantum information transforming

by Unitaries is a postulate !

ihI=Ñy⇒ U=éiÉÑ hermitian
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Why Unitary ?

Logic Answer :

Quantum gates must be reversible

1-1=1-1-1
All Unitanies

UUt=Ienm↓
can be inverted:
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Unitary = Orthonormal

Matrix

Rank ( n)

/ rows / = I = / columns/
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Qubit
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Quantum circuit



Tensor Products of

states and Gates

represent multiple Qubits

Tensor
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Tensor Product of States

11 > ☒ 103 = [?] ⑦ [
'

o ]

" > =[Hi =L:{¥]
to> = ['o] ? =L:|:

= to)



Tensor Product Practice
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Keyword: Euphoria



Tensor Product Of Gates
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Tensor Product Of Gates
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Making Useful

Multi - Qubit Gates
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CNOT Gate 19,907
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- 2 qubit operation
I

- Matrix Representation#
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c.Not = [0%87] Highly dependent
8,088 on certain

basis

If 90=0 : If 9,0--1 :

91=9 , 91=1%-19, )mod2
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Entanglement
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Entanglement
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